
 

 5من  1الصفحة 
 

33132018

𝐶𝐻3𝑁𝐻2(𝑎𝑞)𝑉𝑔 

500 𝑚𝑙(𝑆)𝐶0𝑝𝐻𝑝𝐻 = 11.3

1

1- 𝑝𝐻 

2-  

3-  

4- (𝑆)𝑝𝐾𝑎(𝐶𝐻3𝑁𝐻3
+ 𝐶𝐻3𝑁𝐻2⁄ )  

5- 𝐾 𝐾 =
[𝑂𝐻−]𝑓

2

𝐶0−[𝑂𝐻−]𝑓
 

6-   𝐶0  = 0.012𝑚𝑜𝑙/𝐿 𝑉𝑔(𝑆) 

7- 𝜏1𝑓 

8- 𝑉0 = 10𝑚𝑙(𝑆)50(𝑆1) 

 𝐶1(𝑆1) -أ

 𝑝𝐻(𝑆1) -ب

 𝜏2𝑓 -ج
𝑉𝑀 = 24𝐿/𝑚𝑜𝑙
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 5من  2الصفحة 
 

- 𝐸

- 𝑅1 = 100Ω𝑅2 = 80Ω

- 𝐶𝐾

- 𝐿𝑟

𝑡 = 0𝐾(1)

𝑢𝑅1
= 𝑓 (

d𝑢c

dt
)

- 

- 

𝑢𝑐 + 𝛼
𝑑𝑢c

𝑑𝑡
= 𝛽𝛼

𝛽𝑅1  𝐶𝐸

- 𝑢𝑐(𝑡) = 𝛽 (1 − 𝑒−
𝑡

𝛼)

- 𝑢𝑅1
= 𝑓 (

d𝑢c

dt
)

𝐸𝜏1 𝐶

- 

𝑡140%𝑡280%

𝜏1∆𝑡∆𝑡 = 𝑡2 − 𝑡1

𝑡 = 0𝐾(2)

- 

-  𝐼0𝜏2

-  𝐼0𝑟 𝜏2𝐿  

- 𝐸𝐿𝑚𝑎𝑥

𝐶′

𝐸𝐿𝑚𝑎𝑥

- 𝐶′

2 

3 

4 
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